

# August 2019 Issue (Vol. 207) Content

- 1. Message from WKO President
- 2. Activities of Japanese Instructors & PR (from August 2019)
- 3. 12th World Open Karate Championship
- 4. Resignation of Branch Chiefs
- 5. The 4th KWU World Championship
- 6. Request for reconfirmation of WKO Grading Regulations
- 7. WKO Website
- 8. Isami & Martial World Products

- 9. Notice from WKO Office
  - (1). WKO Office Contact Information
  - 2. Annual Fees
  - ③. Various Forms
  - 4. Invitations of Japanese Instructors
  - (5). Acceptance of Students from Overseas Branches
  - 6. Centralization of Communication between Overseas Branches
- 10. Current Status on Payment of Annual Fees

# 1. Message from WKO President

Dear Branch Chiefs and Contacts,

In Japan, the rainy season, which was longer than usual, has ended, and the hot summer has finally arrived. I hope you are all doing well, and training hard at your dojo with strong kiai. I sincerely wish for your great health and prosperity.

This July, I visited Mongolia for the second consecutive year, for my second visit to the country. This time, there was a clear objective, in the key members of Mongolia challenging for the grading exam, and I had high expectations for this great opportunity to improve the instructing ability and techniques of the country. The exam achieved positive results, and I was touched by the process that led to it. Kihon, Ido, and Kata. During my visit, the members actively took part in the preparation trainings, and with a positive attitude, continued their efforts to improve their techniques for the exam. I am sure that the students respected such positive attitude and strong spirit by their instructors. I feel an infinite possibility for the further development of Mongolia and their competition level. Mongolia will be organizing the Asian Championship in 2022, and I am sure that the hosting of such large event will be an opportunity for further growth of the branch. I wish to express my sincere appreciation towards the warm hospitality provided by Country Representative Gombogerel Batmunkh and related members during my stay.

The competitor application deadline for the 12<sup>th</sup> World Open Karate Championship has passed, and the battle to decide the world No. 1 in Karate will begin. I am sure that the competitors for each country and region will make use of each moment of each day to prepare themselves for the tournament. I am a firm believer of the saying "Do the best and let nature take its course". To train, and train, and train. To do everything possible. The only thing left is to participate in the tournament. I sincerely wish for all competitors to reach such stage, and I will be looking forward to their performance at the event. At the occasion of the World Championship, various meetings will be held, as well as the World Karate Seminar. To eat and sleep at the same facility, discuss the future and goals of the organization, and in the fresh air and beautiful autumn



leaves close to Mt. Fuji, train hard together. We will do our best to prepare a great series of events, so that all Karateka can have a wonderful time during their stay. I am looking forward to seeing all of you again.

Lastly, the WKO Japan Region will hold the Karate Dream Festival National Championship 2019 on August 3-4. It will be the largest ever national event with 2,528 competitors, and will be organized as the largest Full Contact Karate tournament in the world. From young children to seniors, beginners to advanced. Kata and Kumite, and Group Kata. The grand stage, where all competitors will pursue their Karate dream in 147 categories. Competitions will be held on 12 courts, with more than 120 referees. I feel the development and spread of Full Contact Karate in the increase of competitors and practitioners. The Karate Dream Festival will be held as an international tournament next year, and I will be looking forward to the participation of many competitors from around the world.

Tournaments will help people grow. The competitors and the related members organizing the event. I am sure that there are many tournaments being held in various countries and regions. I sincerely hope for Full Contact Karate practitioners, to participate in various tournaments, and through such challenge, reach the next stage in their development.

OSU

Kenji Midori

**WKO President** 

# 2. Activities of Japanese Instructors & PR (from August 2019 omit titles from names)

Date	Member	Place	Purpose
$2019/8/12 \sim 8/20$	Naoki Kawahara	Poland	Camp
$2019/8/13 \sim 8/19$	Kenta Mori	Russia	Camp
$2019/8/20 \sim 8/27$	Yasuharu Fujihara Tsutomu Murayama	Poland	Camp
2019/8/21 ~ 8/29	Yuichiro Osaka Suzuri Shimura	Mauritius	Tournament, Seminar, Grading
$2019/8/27 \sim 9/5$	Kenta Mori Masayuki Takeshima	Bulgaria	Seminar
2019/9/6 ~ 9/10	Kenji Midori Isao Kobayashi Kazuo Miyoshi Yasukazu Koi Norichika Tsukamoto 14 Competitors	Malaysia	The 1st Asia Full Contact Karate Open Championship

#### 3. 12th World Open Karate Championship

### 1. General Schedule



November 6th (Wed.) - Tournament Office Opens

November 7th (Thu.) - WKO Committee Meetings, Board Meeting

November 8th (Fri.) - Referee Meeting, Competitor Orientation

November 9th (Sat.) - 12th World Open Karate Championship (1st Day)

November 10th (Sun.) - 12th World Open Karate Championship (2nd Day)

November 11th (Mon.) - WKO General Assembly

Place: Musashino Forest Sport Plaza & Tokyo Dome Hotel/Hotel Grand Palace (Kudanshita)

November 12th (Tue.) - World Karate Seminar 1st Day

November 13th (Wed.) - World Karate Seminar 2nd Day & Grading Exam

November 14th (Thu.) - Seminar participants depart Japan

Place: Fuji-Midori no Kyuka Mura

Please use this opportunity to once again confirm your Annual Fee payment status, which will need to be all complete in order to get financial support from the organizer.

#### 2. Application schedule and relevant information

September 2019 Newsletter-Announcement of tournament draw

October 2019 Newsletter-Meeting documents, referee list

\*The above schedule is subject to change, depending on the progression of the preparation work for the series of events

#### 3. Application for Coach & VIP, Letter of Attorney

#### [Coach]

We offer free admission to the tournament venue and sayonara party for the national coach by issuing the Coach Pass. Please inform us the name of the coach through the country representative with their photo (JPEG format) by **September 30 (Mon.)**. The national coach is limited to 1 person per country (only for countries with competitors in the tournament). Please make the application based on the collective agreement within the country.

#### (VIP)

If an official invitation letter (free access to the tournament venue and party) is necessary for the invitation of VIP (high ranking government official, Olympic Committee member, etc.) in various countries, please contact the WKO Office of such content by **September 30 (Mon.)**.

#### [Letter of Attorney]

For Branch Chiefs (unnecessary for Contacts) that will be absent for the WKO General Assembly on November 11 (Mon.), please send us the attached letter of attorney by **September 30 (Mon.)**.

Applications and documents sent after the deadline will not be accepted.

# 4. Arrangement of air tickets for competitors covered by the organizer

For those who have not contacted WKO concerning the air ticket for the competitor covered by the organizer, please do so by utilizing the attached air ticket proposal form.



# 5. Criteria for WKO Grading Exam

Please confirm the following guideline for the WKO Grading Exam.

First Exam < Kihon, Ido, Strength, Flexibility, and etc.> < Kata>

Dan of Grading	Kata Category
1st Dan	Pin-an 1~5, Tsuki no Kata, Sanchin,
	Saiha, Yantsu, Tensho
2 <sup>nd</sup> Dan	All the above Kata and Gekisaidai, Gekisaisho,
	Garyu
3 <sup>rd</sup> Dan	All the above Kata and Seienchin, Seipai
4 <sup>th</sup> Dan	All the above Kata, and Kanku
5 <sup>th</sup> Dan	All the above Kata, and Sushiho

<sup>\*</sup>Pin-an Ura will not be included in the Kata Category. Also, please confirm that each participant will be required to perform the Kata of their choice alone.

Second Exam (Participants who are not able to pass the First Exam will not be included) < Kumite > Regardless of age and Dan of Grading, all participants will do kumite with 10 consecutive people.

#### 6. Election of WKO Board Members & possibility of regional meetings

We would like to remind you that the election of WKO Board Members (regional representatives) will be held this year. Please discuss the matter within each region and select a WKO Branch Chief who will be the Board Member from 2019 (after the General Assembly) to 2023, and inform the WKO Office of the result. If there is a request to have a regional meeting, the WKO Office will be able to arrange a meeting room at the official hotel (room fee necessary).

#### 7. Reminder of deadline

Please confirm that the deadline for the flight info & hotel request, seminar & exam, training request, and media accreditation (online) is August 31 (Sat.).

#### 8. JTB Supporters Package

The JTB Supporters Package is available at the following link until August 31 (Sat.). The details related to the available hotels, tournament tickets, sayonara party tickets, and visa application (deadline: September 30) are available, and if you should have any questions, please contact JTB directly. JTB will be able to accept orders for tournament tickets only, and please confirm that all who need visa support, will need to make their visa application to JTB (not WKO Headquarters). When making the visa application, please divide the application based on those covered by the organizer (Branch Chief/Contact/Competitor covered by organizer), and those not covered by the organizer (Competitors by own expense/Coach/supporters).

https://mice3.jtbgmt.com/WKC2019/



E-mail: WKC2019@gmt.jtb.jp

WKC2019\_VISA@gmt.jtb.jp

#### 4. Resignation of Branch Chiefs

The following Branch Chiefs resigned from WKO.

Kazakhstan Branch Chief Andrey Petrovskiy (as of July 12, 2019)

Kyrgyz Branch Chief Nurfaiz Almazbek Uulu (as of June 15, 2019)

Uruguay Branch Chief Adriano Hernandez (as of July 3, 2019)

# 5. The 4th KWU World Championship

The 4<sup>th</sup> KWU Kyokushin World Championship will be held in Astana, Kazakhstan on December 7-8, 2019. If you have any competitors who wish to participate in the championship, please fill out the attached competitor information form and send it to the WKO Office <u>by August 31 (Sat.)</u> for approval. Please confirm the following application process below, and visit KWU's website for more details of the championship.

- 1. Branch Chiefs/Contacts contact the WKO Office if they have competitors who wish to participate in the championship, along with the competitor information form <u>by August 31</u> (Sat.).
- 2. The WKO Office confirms the competitor information and approve their registration.
- 3. Branch Chiefs/Contacts directly contact the KWU Office for registration and ask them for the log in ID and password.
- 4. Branch Chiefs/Contacts complete online application for their competitors by using the log in ID and password by October 1 (Tue.).

# 6. Request for reconfirmation of WKO Grading Regulations

Please reconfirm the attached WKO Grading Regulations, and follow the rules accordingly in the grading exams held in each country and region. Especially for the age of the examinee, and the necessary time between grades, it is the responsibility of the organizer to screen this very carefully, so that they do not grade people who are not qualified to challenge for their next grade. In addition, extra care is necessary for organizers who request for WKO officials to be present at their grading as observers, for they cannot be responsible for checking the qualification of each examinee at the exam. If it should become evident after the grading, that the examinee did not meet the criteria to challenge for the exam, the grading may be considered invalid.

#### 7. WKO Website

Visit our website!

http://www.wko.or.jp/

We have been working on the improvement of the WKO Website. Therefore, we would like you to send the information of events which you would like to put on the website if you have any. Please provide us the basic information as mentioned below.

- 1. Events
  - 1) Name of the event (Name of the tournament, camp, etc.)
  - 2) Date and the place where the event was held
  - 3) Host branch



- 4) The number of participants to the event
- 5) List of prize winners (in case of tournament)
- 6) Details about the event (including the impressions by host)
- 7) Photos (Please give an explanation for each photo. About 5 to 10 photos will be put on the website.)

# 2. News

- 1) Details about the news such as date, place, what happened and by whom, etc.
- 2) Photos
- Please confirm that your report may not be introduced on the website if the report is recognized as inappropriate to put on the website by WKO Office.

# 8. ISAMI & Martial World Products

For ISAMI items, please contact Ms. Hayasaki (E-mail: yuko@isami.co.jp) or Fax (81)480-24-0713. In your message, please put "Shinkyokushinkai Dogi" as the subject.

For Martial World items, please contact Mr. Takashi Kido (E-mail: kido@mwjapan.jp) and include "Shinkyokushinkai item order" as the subject of your message.

For details surrounding the 12<sup>th</sup> World Open Karate Championship Memorial Dogi for both ISAMI & Martial World, please confirm the documents sent with the November 2018 Newsletter.

#### 9. Notice from WKO Office

#### (1). WKO Office Contact Information:

• E-mail address:

wko.one@shinkyokushinkai.co.jp

.. For Ms. Kaori Ono, and for Russia/Asia/N. C. S. Americas/S. Pacific regions wko.two@shinkyokushinkai.co.jp

For Mr. Hiroshi Tanaka, and for Europe/Middle East/Africa regions

- Postal Address: 9-20-2F Shin-ogawamachi Shinjuku-ku Tokyo 162-0814, Japan
- Telephone Number: +81-3-3268-1494 Fax Number: +81-3-3268-1495

#### Annual Fees

# Payment of 2019 Annual Fees was due MARCH 2019.

All the Branch Chiefs/Contacts are required to pay the **Annual Fees** (US\$1~\$4 per member) based on the number of members (as of the end of December 2018) they have reported to the WKO Office by the end of January 2019. If you need an invoice, please contact the WKO Office.

**REQUEST from the WKO Office:** For those who are paying the annual fees together with other branch(s) in your country, we would appreciate if you could also provide us with the breakdown, and the number of members of each branch.



# NOTE:

- \* No order for Black Belts and Dan Grading Certificates can be accepted from those who have not paid the annual fees.
- \* Your Competitors will NOT get the financial support for participation from the World Championship organizer unless you pay the applicable annual fees.



We accept your annual fees and other payments through one of the followings:

(<u>Please do NOT use any other methods such as bank checks or cash.</u> Cash payment with exact amount may be acceptable only when you are in Japan.)

Bank transfer

Has to be <u>"WKO" only.</u> Do not put anything after the name, please.

Account name: WKO

Account number: 0848604

Name of the bank: MUFG Bank, Ltd., Kagurazaka Branch

Address of the bank: 3-7 Kagurazaka, Shinjuku-ku, Tokyo 162-0825, Japan

Their SWIFT code: BOTKJPJT

- Please <u>avoid a bank that uses a transit bank</u>, which may deduct a significant amount from your intended payment.

# • PayPal (Online -payment service by credit card)

This service is now available in 203 countries with 26 currencies. The fee is very reasonable when making a small amount transaction. For details, please visit the PayPal website.

Paypal website: https://www.paypal.com/jp/cgi-bin/webscr?cmd= home

<u>Please note that WKO will charge you a 4% handling charge to cover this receiving charge.</u>

#### Money Gram

Currently unavailable due to extreme difficulty in receiving payments (as of January 2019).

# 3. Various Forms

The WKO Office would like Branch Chiefs and Contacts to use the designated form when they contact us. We have:

- Order and Payment Form (for payment of grading fees, annual fees, membership fees)
- WKO Official Invitation Letter Form (for inviting Japanese instructors)
- Request Form for Invitation Letter (for whom needs Visa to enter Japan)
- Application Form for a Candidate of new Branch Chief & Contact

Although we understand that some Branches/Countries have their own method, the forms helped us to do administrative work efficiently, and we appreciate your kind understanding.

#### 4. Invitation of Japanese Instructors

The WKO office receives numerous invitations for Japanese instructors every year. Standard procedure calls for the Official Invitation Letter to be sent to the WKO Office with the necessary information filled in. The invitation becomes official only when the letter arrives at the WKO Office. Please refrain from direct negotiations with Japanese instructors, for it will only lead to problems in the future. Finally, we would like for all to understand that an agreement based on direct negotiations will not be considered an official invitation.

#### 5. Acceptance of Students from Overseas Branches

Every year, numerous students from overseas branches visit Japan for the purpose of training. When a student wishes to visit Japan for training, standard procedure calls for the Branch Chief or Contact (who the student belongs to) to contact the WKO Office of the ideal time frame, dojo, and detailed information (name, dan/kyu, age, etc.) of the student. The WKO Office will confirm the content of the request with the Branch Chief/Contact of the dojo in Japan. In a case where an



overseas student goes forth with his/her training in Japan without consulting the WKO Office, it would delay the response time of the WKO Office if an emergency happened to occur. To assure the safety of the students, we ask for everyone's cooperation in this matter.

# 6. Centralization of communication between Overseas Branches

It is required that communication (related to events within the organization) between Overseas Branches and Japanese Branch Chiefs & Contacts be exchanged through the WKO Office. Translation of documents (Japanese English) will also be managed by the WKO Office. In order to avoid any unnecessary problems and confusion, we ask for everyone's cooperation in the centralization of communication between overseas branches.

# 10. Current Status on Payment of Annual Fees as of July 31, 2019

Please confirm the attached list.

# **WKO Grading Regulations**

# **Purpose**

1. In order to instruct Kyokushin/Shinkyokushin Karate, we, the World Karate Organization (hereinafter referred to as WKO), hereby regulate the Grading for complete Karatekas who have accomplished the true spirit of Martial Arts and trained their mind and body through Karate.

# Grading

2. For the Grading stated in the previous article, WKO assigns 1st Dan through 10th Dan. WKO awards Honorary Dans, from 1st to 5th Dan, to those who contribute significantly to the organization. The Honorary Dans are given to non WKO Members, regardless of their Karate history or age.

# **Promotion**

3. Dan Promotion is authorized either as a result of a Grading Examination or by recommendation. The Grading Examination shall be held by an authority specified according to each rank of Dan. The 6th Dan and above and Honorary Dans shall be approved by recommendation only.

# **Grading Examination and Licensing Authority**

- 4. The Grading Examination shall be held by an authority specified for each Dan of the examinees. The examiners need to have the qualifications in order to conduct the Examination and approve the promotions.
- 5. The authority and examiners for each Dan shall be as follows:
  - 1<sup>st</sup> Dan Either WKO Grading Committee, Regional Organization or each Branch shall authorize the promotion. Examiners shall be WKO Branch Chiefs or Regional Grading Committee Members with the 3rd Dan or above.
  - 2<sup>nd</sup> Dan Either WKO Grading Committee, Regional Organization or each Branch shall authorize the promotion. Examiners shall be WKO Branch Chiefs or Regional Grading Committee Members with the 4th Dan or above.
  - 3<sup>rd</sup> Dan Either WKO Grading Committee, Regional Organization or each Branch will authorize the promotion. Examiners shall be WKO Branch Chiefs or Regional Grading Committee Members with the 5th Dan or above.
  - 4<sup>th</sup> Dan Either WKO Grading Committee or Regional Organization shall authorize the promotion. Examiners shall be more than one WKO Branch Chiefs with the 6th Dan or above or more than one WKO Grading Committee Members.
  - 5<sup>th</sup> Dan WKO Grading Committee shall authorize the promotion. Examiners shall be WKO Grading Committee Members.

# Recommended Dan and its licensing authority

6. The Recommended promotion for 1st through 5th Dan will apply to all WKO members who cannot take part in the Grading Examination because of injuries and illnesses. Recommendation should be sent to WKO Office basically by WKO Branch Chiefs, then discussed by WKO Grading Committee and approved by WKO Board as an authority.

7. WKO regards the 6th Dan and above as a higher Dan. For their Promotion, candidates will be screened by their significant contribution to the development of our organization as well as by their skill and character as a Karateka. Recommendation should be sent to WKO Office basically by WKO Branch Chiefs or each Region, discussed by WKO Grading Committee and approved by WKO Board as an authority.

# Honorary Dan and its licensing authority

8. Honorary Dan is for non WKO members who contribute to our activities either at national, regional, or global level. The contribution means continuous support towards our organization financially, socially and/or culturally, and it must result in some substantial development when it is assessed in objective terms. Recommendation should be sent to WKO Office by a WKO Branch Chief, discussed by WKO Grading Committee and then approved by WKO Board as an authority.

# **Qualification for Promotion**

9. The qualification required for each promotion is as follows:

1<sup>st</sup> Dan No special qualification is needed.

2<sup>nd</sup> Dan A member who is 20 years old or more and who has experience of 2 or more years from the last grading of 1<sup>st</sup> Dan can be promoted to 2<sup>nd</sup> Dan.

3<sup>rd</sup> Dan A member who is 25 years old or more and who has experience of 3 or more years from the last grading of 2<sup>nd</sup> Dan can be promoted to 3<sup>rd</sup> Dan.

4<sup>th</sup> Dan A member who is 30 years old or more and who has experience of 4 or more years from the last grading of 3<sup>rd</sup> Dan can be promoted to 4<sup>th</sup> Dan.

5<sup>th</sup> Dan A member who is 35 years old or more and who has experience of 5 or more years from the last grading of 4<sup>th</sup> Dan can be promoted to 5<sup>th</sup> Dan.

6<sup>th</sup> Dan A member who is 45 years old or more and who has experience of 6 or more years from the last grading of 5<sup>th</sup> Dan can be promoted to 6<sup>th</sup> Dan.

7<sup>th</sup> Dan A member who is 55 years old or more and who has experience of 7 or more years from the last grading of 6<sup>th</sup> Dan can be promoted to 7<sup>th</sup> Dan.

8<sup>th</sup> Dan A member who is 65 years old or more and who has experience of 8 or more years from the last grading of 7<sup>th</sup> Dan can be promoted to 8<sup>th</sup> Dan.

9<sup>th</sup> Dan A member who is 75 years old or more and who has experience of 9 or more years from the last grading of 8<sup>th</sup> Dan can be promoted to 9<sup>th</sup> Dan.

- 10. Note an exception may be made for a person who has placed 3<sup>rd</sup> or better at a World Open Karate Championship, or has become a winner of a weight category at the World Karate Championship in Weight Categories. He/she has a right to take the grading examination for 5<sup>th</sup> Dan or lower Dan without the qualification stated in article 9.
- 11. The 10<sup>th</sup> Dan is exclusively for the founder Sosai Masutatsu Oyama, and no other person is permitted to be given that grade.

# Issuing belts and certificates

12. When each promotion was approved by the authority, a black belt and certificate issued after the payment of grading fees, and completion of other procedures will prove the grading. Note that no payment is required for the honorary Dans.

# Reissuing the certificates

13. The certificate shall be reissued only if its grading record is administrated by WKO Office, and the special rate shall apply for the re-issuance. If there is no record in WKO Office, the application must be provided to WKO Grading Committee with some objective references in writing, and the Committee shall make the decision whether the certificate shall be reissued or not.

# Deprivation of Dan

14. A person who has been expelled from the organization after acting against the WKO Regulations, or after having dishonored the name of the Organization, will be deprived of his/her grade by WKO Board.

			1		20	19	2018			2017						
Country	国名	Branch Chief Name	支部長名	会員数 Members	\$	年会費 Annual Fee	会員數 Members	\$	年会費 Annual Fee	会員数 Members	\$	年会費 Annual Fee	会員数 Members	\$	年会費 Annual Fee	
Algeria	アルジェリア	Samir Bouizegarene	サミル・ボウイゼガレネ	Moniboro		7411144114	MONIBORO		74111441144	100	1.0	\$100	100			since 2015.6
Botswana	ボツワナ	Vusi Setlhare	ヴシ・セトラーレ													
DR Congo	コンゴ民主	Ebete Gana	エベテ・ガナ・タンポ													
Malawi	共和国マラウィ	Tampwo Gibson Masebo	ギブソン・マセボ													
				200		****	200	4.0	2475	200	4.0	****	200	4.0	****	
Mauritius	モーリシャス	Aslum Jeewa Muhammad	アスラム・ジーワ ムハマド・モービーン・ジー	300			300		\$475	380	1.0	\$380	380	1.0	\$380	since
Mauritius	モーリシャス	Moobeen Jeewa	ワ	110	1.0	\$110	110	1.0	\$110							2017.12
Morocco	モロッコ	Said Bouzida	サイド・ブージダ													since 2012.11
Reunion	レユニオン	Jean-Michel Magdeleine	ジーン・ミシェル・マグダリ ン	110	1.0	\$110	100	1.1	\$113							since 2017.12
South Africa	南アフリカ	Isaac Mashinini	アイザック・マシニーニ	250	1.0	\$250	650	1.0	\$650	530	1.0	\$530	460	1.0	\$460	
South Africa	南アフリカ	Patrick Mdakane	パトリック・ムダカネ													
South Africa	南アフリカ	Trevor Rustin	トレヴァー・ラスティン				100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	left in 2019.
South Africa	南アフリカ	Deen Daniels	ディーン・ダニエルス	102	0.8	\$81	87	1.1	\$100	110	1.0	\$110	110	1.0	\$110	since 2013.1
South Africa	南アフリカ	Thomas Sindephi	トーマス・シンデフィ・マエ	200	1.0	\$200	200	1.0	\$200	180	1.0	\$180	180	1.0	\$180	since 2015.6
South Africa	南アフリカ	Mayekani Medupi Robert	カニ メドゥピ・ロバート・レチェレ	150			150		\$150	120		\$120	120			since 2015.6
		Lechelele Emmanuer	レ エマニュエル・ヌカンイエ				100	1.0	<b>\$100</b>	120	1.0	<b>\$120</b>	120	1.0	ψ120	
South Africa	南アフリカ	Nkanyezi Sibusiso	ジ・シブシソ・ムパンザ	333												since 2018.5
Tunisia	チュニジア	Faouzi Bellaaj	ファウジ・ベラージ	300	1.0		300	1.0	\$300	300	1.0		300	1.0	\$300	
		Africa Total	アフリカ 集計	1,855		\$1,849	1,997		\$2,198	1,820		\$1,820	1,750		\$1,750	
Iran	イラン	Ahmad Pourmohseni	アーマド・ポルモセーニ							150	1.0	\$150	300	1.0	\$300	
Iran	イラン	Mozafar Hasanzadeh Fard	モザファル・ハサンザ デー・ファード		L						L			L		
Iran	イラン	Jamal Rashti	ジャマル・ラシュティ													
Iran	イラン	Mehdi Farahmand	メディ・ファラーマン													
Iran	イラン	Ahmad Shaghaghi	アーマド・シャグハギ				700	1.0	\$700	700	1.0	\$700				since 2017.5
Iraq	イラク	Ayad Khafaja	アヤド・カファジャ				200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	
Jordan	ヨルダン	Khalid W. Zakzook	カーリッド・W・ザクズーク						,			,			,	
	クウェート	Abdullah Banwan	アブドゥラ・バンワン・オム	100	5.0	\$500	100	5.0	\$500	100	5.0	\$500	100	5.0	\$500	
Kuwait		Omran Albanwan	ラン・アルバンワン											5.0	·	
Lebanon	レバノン アラブ首長	Hachem M. Makki Bibin Kurian	ハシェム・M・マッキ ビビン・クリアン・テクムケ	250			200		\$200	500	1.0	\$500	500	1.0	\$500	
U.A.E.	国連邦	Thekkumchery Abd Airanman	リー	200	0.0	\$2	225	1.0	\$225	200	1.0	\$200	175	1.0	\$175	
Yemen	イエメン	Mohamed Al	アブド・アルラフマーン・モ ハメド・アルアマッシュ													
		Middle East Total	中東 集計	550		\$752	1,425		\$1,825	1,850		\$2,250	1,275		\$1,675	
Andorra	アンドラ	Jesus Talan	ヘスス・タラン	100	1.7	\$167	100	2.0	\$200	100	2.0	\$200	100	2.0	\$200	since2015.12
Armenia	アルメニア	Murad Kspoyan	ムラッド・コスポヤン	250	1.0	\$250	250	1.0	\$250	250	1.0	\$250	250	1.0	\$250	
Austria	オーストリア	Marek Kubek	マレック・クベック	300	1.0	\$300	300	1.0	\$300	300	1.0	\$300	300	1.0	\$300	
Azerbaijan	アゼルバイ ジャン	Allahverdi Rustamov	アラーヴェルディ・ルスタモ フ	289	1.0	\$282	300	1.0	\$300	300	1.0	\$300	300	1.0	\$300	
Belarus	ベラルーシ	Henadzi Zhukouski					180	1.0	\$180	160	1.0	\$160	140	1.0	\$140	since 2013.8
Belgium	ベルギー	Martin Michel	マーティン・ミッシェル	275	3.0	\$825	271	20	\$542	226	2.0	\$452	201	20	\$402	
Belgium	ベルギー	Luc Vandecraen	ルーク・ファンデクラエン	220					\$239	239		\$239	228		\$228	
Belgium	ベルギー	Koen Spitaels	コーン・スピテールス	275					\$540	226			201		\$402	
Bulgaria	ブルガリア	Veltchev, Popov	ヴェルチェフ、ポポフ	300	1.0	\$300	350	1.0	\$350	350	1.0	\$350	320	1.0	\$320	-1
Bulgaria	ブルガリア	Boris Nikolov	ボリス・ニコロフ	290	1.0	\$290	290	1.0	\$290	290	1.0	\$290	280	1.0	\$280	since 2014.12
Bulgaria	ブルガリア	Hristo Terziev	ヒリスト・テルジエフ	210	1.0	\$210	211	1.0	\$211	218	1.0	\$218	220	2.0	\$440	since 2014.12
Bulgaria	ブルガリア	Tihomir Totev	ティホミール・トテフ	190	1.0	\$190					L			L		since 2018.12
Bulgaria	ブルガリア	Valeri Veselinov Dimitrov	ヴァレリー・ヴェセリノフ・ ディミトロフ	185	1.0	\$185										since 2018.12
Bosnia and Herzegovina	ボスニア・ヘ ルツェゴビナ	Igor Rankovic	イゴール・ランコフィク	100			50	2.0	\$100							since 2018.9
Croatia	クロアチア	Milan Garasic	ミラン・ガラシク	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	
Croatia	クロアチア	Nikola Banjeglav	ニコラ・バンジェグラフ	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	since 2015.6
Czech	チェコ	Jiri Zofcin	ジリ・ゾフチン	320			320		\$320	320		\$303	320		\$323	
Republic	デンマーク	Jan Bulow	ヤン・ビュロウ	520	5	7520	520		<b>\$520</b>	320	2.0	4550	520	5	<b>4520</b>	
Denmark					0.5	A			Ac		0 -	Ac 25 -		0.5	40.55	
Denmark	デンマーク	Bulow, Trier	ビュロウ、トリアー	1,125	2.0	\$2,250	1,005	2.0	\$2,010	1,100	2.0	\$2,200	1,135	2.0	\$2,270	
Estonia	エストニア	Dinibek Izbatorov	デニベク・イズバティロフ													
France	フランス	Jean-Philippe Bazerque	ジャン・フィリップ・バゼル ク						\$30	600	2.0	\$1,200	600	2.0	\$1,200	Left in 2017
	フランス	Pascal Rouxel	パスカル・ルクセル	350	2.0	\$700	300	2.0	\$600	200	2.0	\$400	200	2.0	\$400	
France						\$700	300	2.0	\$600	200	2.0	\$400				since 2017.5
	フランス	Sebastien Vanroyen	セバスティアン・ヴァンロイエン	350	2.0	1 *****			****							
France France Georgia			セバスティアン・ヴァンロイエン アヴタンディル・シェンゲレア	350 250			220	1.0	\$220	220	1.0	\$220	250	1.0	\$250	
France Georgia	フランス	Vanroyen Avtandil Shengelia Zaal	アヴタンディル・シェンゲレ ア ザエル・モイスツラピシェ					1.0		220	1.0		250	1.0	\$250	
France Georgia Georgia	フランス グルジア ジョージア	Vanroyen Avtandil Shengelia Zaal Moistsrapishvili	アヴタンディル・シェンゲレア ザエル・モイスツラピシェヴィリ	250	0.9	\$220	220		\$220			\$220				
France Georgia Georgia Germany	フランス グルジア ジョージア ドイツ	Vanroyen Avtandil Shengelia Zaal Moistsrapishvili Wolfgang Pech	アヴタンディル・シェンゲレア ザエル・モイスツラピシェヴィリ ウォルフガング・ペック	250 585	2.0	\$220 \$1,170	220 635	2.0	\$220 \$1,270	620	2.0	\$220 \$1,240	600	2.0	\$1,200	
Georgia	フランス グルジア ジョージア	Vanroyen Avtandil Shengelia Zaal Moistsrapishvili	アヴタンディル・シェンゲレア ザエル・モイスツラピシェヴィリ	250	2.0	\$220 \$1,170 \$153	220 635 88	2.0	\$220		2.0	\$220	600	2.0		

			Г		20	10	2018				17		1			
Country	国名	Branch Chief	支部長名	会員数	\$	年会費	会員數	\$	年会費	会員数	\$	年会費	会員数	20°	年会費	
Greece	ギリシャ	Name Otario Melikiadis	オタリオ・メリキアディス	Members 100		Annual Fee \$100	Members 100		Annual Fee \$100	Members 100	1.0	Annual Fee \$100	Members 100		Annual Fee \$100	/Remarks
	ハンガリー	Kalman, Karmazin,	カルマン、カルマジン、	100	1.0	<b>\$100</b>										
Hungary	ハンガリー	Kaloczi	カーローツィー フルコ・カルマン	650	2.0	\$1,300	650	0.0	\$1,300	CEO	2.0	\$1,300	650	0.0	\$1,300	
Hungary		Furko Kalman		650	2.0	\$1,300	650	2.0	\$1,300	650						Passed away i
Hungary	ハンガリー	Gyorgy Karmazin	ジェルジー・カルマジン							1,600		\$3,200	1,500			August 2017
Hungary	ハンガリー	Jozsef Kaloczi	ヨージェフ・カーローツィ		2.0					900	2.0	\$1,800	850	2.0	\$1,700	
Hungary	ハンガリー	Tamas Szabo	タマス・サボ	1,600	2.0	\$3,200	1,600	1.0	\$1,600							since 2018.5
Israel	イスラエル	Gleb Rabinovich	グレブ・ラビノヴィチ							380	5.0	\$1,900	370	5.0	\$1,850	
Italy	イタリア	Roberto Di Blasio	ロベルト・ディブラシオ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Italy	イタリア	Francesco Fina	フランチェスコ・フィーナ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	125	1.0	\$125	since 2012.12
Italy	イタリア	Aldo Raimondi	アルド・ライモンディ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	125	1.0	\$125	since 2015.8
Latvia	ラトビア	Vladmirs Lavrinovics	ウラジミール・ラブリノビク ス	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	120	1.0	\$120	
Liechtenstein	リヒテンシュ タイン	Normann Kaiser	ノルマン・カイゼル	112	4.0	\$448	115	4.0	\$460	123	4.0	\$492	120	4.0	\$480	
Lithuania	リトアニア	Romas Vitkauskas	ロマス・ヴィトカウスカス	4,088	1.0	\$4,088	3,918	1.0	\$3,918	3,780	1.0	\$3,780	3,652	1.0	\$3,652	
Moldova	モルドバ	Aurel Condrea	オーレル・コンドレア	150	1.0	\$150	150	1.0	\$150	200	1.0	\$200	200	1.0	\$200	
Netherlands	オランダ	Sharrenberg, Wedel	シャレンベルグ、ウェーデ	392	3.2	\$1,254	360	4.0	\$1,440	290	4.0	\$1,160	316	4.0	\$1,264	
Netherlands	オランダ	Roeland De Lange	ローランド・デ・ランゲ													
Netherlands	オランダ	Gilbert Roy	ギルバート・ロイ・クレヴァ	124	3.2	\$397	113	32	\$363	126	4.0	\$504	126	3.0	\$378	since
		Cleveringa Andreassen, Grejs, Helin,	リンガ アンドレアッセン、グレイス、ヘ										618			2012.11
Norway	ノルウェー	Myklebust	リン、マイクルバスト		5.3				\$3,047	612		\$3,241		-		
Poland	ポーランド	Jacek Baranowski	ジャセク・バラノウスキー		1.0				\$120	120		\$120	110	-		
Poland	ボーランド	Krzysztof Borowiec	クリストフ・ボロヴィエック	500		\$500			\$530	420		\$420	300			
Poland	ポーランド	Roman Keska	ローマン・ケスカ	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	
Poland	ポーランド	Wieslaw Gwizd	ヴィエスラヴ・グヴイズド									\$4	400	1.0	\$400	in June 2016
Poland	ポーランド	Mariusz Godos	マリウシュ・ゴドシュ	162	1.0	\$157	200	1.0	\$200	220	1.0	\$220	300	1.0	\$300	
Poland	ポーランド	Bogdan Lubos	ボグダン・ルボス	520	1.0	\$520	500	1.0	\$500	420	1.0	\$420	360	1.0	\$360	
Poland	ポーランド	Remigiusz Karpinski	レミギュシュ・カラピンス キー	350	1.0	\$350	630	1.0	\$630	480	1.0	\$480	420	1.0	\$420	
Poland	ポーランド	Jacek Lamot	ジャセク・ラモト	250	1.0	\$250	250	1.0	\$250	250	1.0	\$250	200	1.0	\$200	
Poland	ポーランド	Mariusz Mazur	マリウシュ・マズール	1,000	1.0	\$995	1,000	1.0	\$1,000	1,000	1.0	\$1,000	700	1.0	\$700	
Poland	ポーランド	Tomasz Basiak	トマス・バシアック	750	1.0	\$750	452	1.0	\$452	450	1.0	\$450	410	1.0	\$410	
Poland	ポーランド	Bogdan Jeremicz	ボグダン・ジェレミクス				454	1.0	\$454	390	1.0	\$390	310	1.0	\$310	left in 2019.3
Poland	ポーランド	Artur Wilento	アルトゥール・ヴィレント				400	1.0	\$400	340	1.0	\$340	325	1.0	\$325	left in 2019.3
Poland	ポーランド	Eugeniusz	エウゲニウシュ・ダディブ	700	1.0	\$680		1.0	\$700	700	1.0	\$700	700	1.0		since 2016.7
Poland	ポーランド	Dadzibug Wojciech	グ ボイチェフ・ラジェヴィッチ	2,200					\$2,050	1,200		\$1,200	700	1.0	ψ/00	since 2017.5
		Radziewicz								1,200	1.0	\$1,200				
Poland	ポーランド	Marek Krejpcio  Dariusz Marian	マレック・クレイプシオ ダリウシュ・マリアン・ヤシ		1.0			1.0	\$150							since 2017.5
Poland	ポーランド	Jasiakiewicz	アキエヴィッチ	300	1.0	\$300										since 2017.5
Portugal	ポルトガル	Fabiano Moreira	ファビアーノ・モレイラ チリラ、ワルメン、ペトルー													
Romania	ルーマニア	Chirila, Wallmen, Petrut	ト	600	1.0	\$600	540	1.0	\$540	540	1.0	\$540	520	1.0	\$520	
Serbia	セルビア	Dzevad Secovic	デヴァド・セコヴィク	100	1.0	\$100										since 2018.12
Slovakia	スロバキア	Janos Markovics	ジャノス・マルコヴィクス	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	200	1.0	\$200	
Spain	スペイン	Escalera, Soriano, Requena, Lozano, Adria	エスカレラ、ソリアーノ、レクエ ナ、ロザーノ、アドリア	892	3.0	\$2,676	850	3.0	\$2,550	770	3.0	\$2,310	750	3.0	\$2,250	
Spain	スペイン	Jesus Talan	ヘスス・タラン	800	2.0	\$1,600	800	2.0	\$1,600	800	2.0	\$1,600	850	2.0	\$1,700	
Sweden	スウェーデ ン	Meszaros, Soderkvist, Fitkin, Collins, Nygren, Payne, Ghanbari	メサロス、ソデルクヴィスト、フィトキン、コリン ズ、ニューグレン、ペイン、ガンパリ	3,086	2.0	\$6,172	3,664	2.0	\$7,328	3,701	2.0	\$7,402	3,332	2.0	\$6,664	
Switzerland	スイス	Steinmann, Gabler, A. Polimeno, L. Polimeno	スタイマン、ガブラー、A・ ポリメノ、L・ポリメノ	571	4.0	\$2,284	563	4.0	\$2,252	619	4.0	\$2,476	648	4.0	\$2,592	
Ukraine	ウクライナ	Alexander Goncharenko	アレクサンダー・ゴンチャレンコ	600	2.0	\$1,200	775	2.0	\$1,550	740	2.0	\$1,480	620	2.0	\$1,240	
Ukraine	ウクライナ	Sergii	セルゲイ・ブロニストフス	450	2.0	\$900	425	2.0	\$850	408	2.0	\$816	368	2.0	\$736	
Ukraine	ウクライナ	Bronistovskyi Viktor Liashchenko	ヴィクトル・リャシュチェン									·	200			
Ukraine	ウクライナ	Oleksandr Kuzmin	アレクサンドル・クスミン				300	2.0	\$600	300	2.0	\$600	300			
Ukraine	ウクライナ	Oleksandr Korol	アレクサンダー・コロール	E00	2.0	\$1,000					2.0	\$600	250			
	ウクライナ		セルゲイ・ゲトマンスキー	200		\$1,000			\$300	100			100			
Ukraine		Sergii Getmanskyi										\$200				
Ukraine	ウクライナ	Sergiy Mutin Volodymyr	セルゲイ・ムティン		2.0			2.0	\$900	380	2.0	\$760	300	2.0	\$600	since 2013.8
Ukraine	ウクライナ	Galimskyi	ヴォロディミール・ガリムスキー		2.0											since 2018.9
		Europe Total	ヨーロッパ 集計	31,728		\$52,181	31,905		\$51,276	30,718		\$53,358	28,465		\$50,542	
Russia	ロシア	Yuriy Shabanov	ユーリ・シャバノフ	500	3.0	\$1,500	550	3.0	\$1,650	550	2.0	\$1,100	550	2.0	\$1,100	
Russia	ロシア	Boris Glushenkov	ボリス・グルシェンコフ	500	2.0	\$1,000	500	2.0	\$1,000	400	2.0	\$800	400	1.0	\$400	
Russia	ロシア	Vadim Ivanov	ワディム・イワノフ										300	2.0	\$600	Left in 2017
Russia	ロシア	Vladimir Lukovsky	ウラジミール・ルコウスキ	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	
Russia	ロシア	Yury Belyaev	ユーリ・ベリアエフ	183	2.0	\$366	340	3.0	\$1,020	460	2.0	\$920	228	1.0	\$228	
Russia	ロシア	Abdurashid	アブドラシド・ヒディロフ		4.0				\$1,124	276		\$1,104	252			
		Khidirov				1,250	L		,	*		,			I	L

			Г	2019			2018				17		]			
Country	国名	Branch Chief	支部長名	会員数	\$	年会費	会員數	\$	年会費	会員数	\$	年会費	会員数	20°	年会費	
Russia	ロシア	Name Leonid Ilyushkin	レオニド・イリューシュキン	Members 350	2.0	Annual Fee \$700			Annual Fee \$500	Members 350	1.0	Annual Fee \$350	Members 310		Annual Fee \$310	/ Remarks
Russia	ロシア	Zakhir Nasirov	ザヒール・ナシロフ	400	Н	\$1,200			\$900	300		\$900	300	_	\$900	
Russia	ロシア	Viatcheslav	ヴィアチェスラフ・リトヴィノ	370		\$740	350		\$700	337	2.1	\$711	333	_	\$999	
		Litvinov	기 부 시 기 시 부 기											_		
Russia	ロシア	Sergey Filippov	セルゲイ・フィリポフ	219		\$657	214		\$642	250		\$250	250	_	\$250	
Russia	ロシア	Victor Karasyuk Vyacheslav	ヴィクトル・カラシューク ヴャチェスラフ・ミトリコフス	300		\$600	300		\$600	300		\$600	300	_	\$300	
Russia	ロシア	Mitrikovsky	+-	400		\$800			\$600	400		\$400	350		\$350	
Russia	ロシア	Denis Grigoriev	デニス・グリゴリエフ	150	2.0	\$300	150	2.0	\$300	150	2.0	\$300	400	2.0	\$800	
Russia	ロシア	Andrey Kitkin	アンドレイ・キトキン	500	2.0	\$1,000	500	2.0	\$1,000	500	2.0	\$1,000	200	2.0	\$400	
Russia	ロシア	Alexander Kim	アレクサンドル・キム	400	2.0	\$800	300	2.0	\$600	300	2.0	\$600	150	2.0	\$300	since 2016.
Russia	ロシア	Iaroslav Rasov	ヤロスラフ・ラソフ	300	1.0	\$300										since 2019.
Russia	ロシア	Vladislav Korpachev	ヴラディスラフ・コルパチェ フ	330												since 2019.
Russia	ロシア	Sergey Nikolaevich Akatov	セルゲイ・ニコラエヴィッ チ・アカトフ	895	1.0	\$895										since 2019.
Russia	ロシア	Roman Nesterenko	ローマン・ネステレンコ	180												since 2019.
		Russia Total	ロシア 集計	6,379		\$12,167	4,435		\$10,736	4,673		\$9,135	4,423		\$7,289	
Afghanistan	アフガニスタ	Hayatullah Muhammad	ハヤトウラー・モハメド	150	0.7	\$100	100	1.0	\$100	100	1.0	\$100			\$150	
Afghanistan	アフガニスタ	Abasin Shinwari	アバシン・シンワリ							150	0.9	\$135	250	1.0	\$250	since 2016.
Afghanistan	アフガニスタ	Habib ur Rahman	ハビブ・ウル・ラフマン・ア							98	1.0	\$100				since 2017.
Afghanistan	アフガニスタ	Adil Obaidullah Atikan	ディル オバイドゥラ・アティカン							98		\$100		_		since 2017.
	ン バングラデ	Abdullan	アブドラ・モハマド・ホサイ	250			250	10	\$250	200		\$200				since 2017.
Bangladesh	シュ	Mohammad Hossain	ン			***									*	since ZU1/.
China	中国	Keiji Okumura	奥村 啓治	659		\$659	777	1.0	\$777	374	1.0	\$374	275	1.0	\$275	
China	中国	Ying Jie Sun	孫穎傑	105		\$105										since 2018.
Guam	グアム	Chris Biolchino	クリス・バイオチノ	104	4.0	\$416	110	4.0	\$440	112	4.0	\$448	121	4.0	\$484	2013.10
Hong Kong	香港	Eric Wan	エリック・ワン	135	2.0	\$270	120	2.0	\$240	115	2.0	\$230	133	2.0	\$266	
China	中国	Eric Wan	エリック・ワン	38	2.0	\$76	50	2.0	\$100	50	2.0	\$100	65	2.0	\$130	
India	インド	Shivaji Ganguly	シヴァジ・ガングリー												\$194	Left in 2016
India	インド	Rameshkumar Krishnasamy	ラメシュクマール・クリシュ ナサミー							410	1.0	\$410	410	1.0	\$410	Left in 2018
India	インド	Asharaf Abdul Shukoor	アシュラフ・アブドゥル・ シュクール	300	1.0	\$300	400	1.0	\$400	600	1.0	\$600	900	1.0	\$900	since 2015.
India	インド	Mahendra Singh	マヘンドラ・シン				160			150	1.0	\$150	110	1.0	\$110	Left in 2018
India	インド	Sunil Kumar Singh	スニル・クマール・シン	208	1.0	\$208	208	1.0	\$208	208	1.0	\$208	208	1.0	\$208	since 2016.0
India	インド	Nirmalya Sikdar	ニルマルヤ・シクダール							270	1.0	\$270				Left in 2017
India	インド	Srinivasuloo Panem	スリニヴァスルー・パネム	150	1.0	\$146	150	1.0	\$150	120	1.0	\$120				since 2017.
India	インド	Ilayaperumal	イラヤペルマル・ジェバドゥ							200	1.0	\$200				since 2017.
India	インド	Jebadurai Gopal Chandra	ライ ゴパール・チャンドラ・サル	250	1.0	\$250	250	1.0	\$250		1.0					since 2017.
India	インド	Sarkar Ganesh Muthu	カール ガネシュ・ムトゥ・クリシュ	100		\$100		1.0	\$100	100		\$100				since 2017.
		Krishna Rangaswamy	<i>+</i>													
India	インド	Boraiah Raveendran Manoj	ランガスワミー・ボライアラヴィーンドラン・マノジ・ク	100	1.0	\$100		1.0	\$100	100	1.0	\$100				since 2017.
India	インド	Kumar Kulathunkal	マール・クラトゥンカル					1.0	\$150							since 2018.
India	インド	Uma Prasad Yadav	ユマ・プラサド・ヤダヴ	200	1.0	\$200			\$200							since 2018.
India	インド	Milan Badyakar	ミラン・バトヤカール	150	1.0	\$150	150	1.0	\$150							since 2018.
India	インド	Manoop Vidyadharan	マヌープ・ヴィドヤダーラン	100												since 2019.
India	インド	Nabendu Das	ナベンドゥ・ダス	100												Left in 2019
India	インド	Sibu Dutta	シブ・ドゥッタ	125	1.0	\$125										since 2019.
India	インド	Ajit Chauhan	アジット・チャウハン	250	1.0	\$250					L			Ĺ		since 2019.
India	インド	Mohin Shankar Basu	モヒン・シャンカル・バス	125												Left in 2019
Indonesia	インドネシア	Sukarno Djunaedi	スカルノ・ジュナエディ	170	2.0	\$340	170	2.0	\$340	160	2.0	\$320	150	2.0	\$300	
Indonesia	インドネシア	Tejo Lesmono	テジョ・レスモノ	150	2.0	\$300	150	2.0	\$300	150	2.0	\$300	150	2.0	\$300	
Indonesia	インドネシア	Hary Soedjono	ハリー・ソエジョノ	150	2.0	\$300	150	2.0	\$300	100	2.0	\$200	150	2.0	\$300	
Indonesia	インドネシア	JB Sujoto	JB・スジョト	200		\$400	200		\$400		2.0	\$320	150		\$300	
Indonesia	インドネシア	Mas Gufron Heru	マス・グフロン・ヘル・S	100		\$100			\$100	100		\$100	100			since 2014.
Indonesia	インドネシア	Subagijo Rudy Haryanto	ルディ・ハルヤント	150		\$150			\$150		1.0	\$100	200	_		since 2014.
	-	Mario Christi														
Indonesia	インドネシア	Suyoto	マリオ・クリスティ・スヨト	130		\$130		1.0	\$100	60	1.7	\$100	50	2.0	\$100	since 2016.
Indonesia	インドネシア	Amidin	アミディン アディルベク・イルセムベト	100		\$100										since 2019.
Kazakhstan	カザフスタン	Adilbek Irsembetov	フ	100	3.0	\$300	100	3.0	\$300	100	3.0	\$300	100	3.0	\$300	
Kazakhstan	カザフスタン	Alexander Medvedev	アレクサンダー・メドヴェデ フ	421	2.0	\$842	540	2.0	\$1,080	452	3.0	\$1,356	512	2.0	\$1,024	
Kazakhstan	カザフスタン	Batyrkhan Sarmanov	バティルハン・サルマノフ			\$65	160	1.3	\$211	160	2.0	\$320	150	2.0	\$300	
Kazakhstan	カザフスタン	Kairtay Sarmanov	カイルタイ・サルマノフ	350	2.0	\$700	275	1.8	\$485	250	2.0	\$500	238	2.0	\$476	
					_								_			
Kazakhstan	カザフスタン	Bolat Baktayev	ボラット・バクタイェフ	100	3.0	\$300	250	2.0	\$500	250	2.0	\$500	100	5.0	\$500	

					20	19		20	18		20	17		20	16	
Country	国名	Branch Chief	支部長名	会員数		年会費			年会費	会員数	\$	年会費	会員数	\$	年会費	
Kazakhstan	カザフスタン	Name Dmitriy Tarassov	ドミトリー・タラソフ	Members	2.0	Annual Fee			Annual Fee \$200	Members 100		Annual Fee \$200	Members 125		Annual Fee	/Remarks since 2013.5
				110	2.0	\$220										
Kazakhstan	カザフスタン	Vlada Danilina Alexsandr	ヴラダ・ダニリナ アレクサンドル・コレスニコ				100		\$100	100		\$100	100			since 2013.5
Kazakhstan	カザフスタン	Kolesnikov	7	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	130	1.0	\$130	since 2013.5
Kazakhstan	カザフスタン	Zaina Betirova	ザイナ・ベティロヴァ	550	1.0	\$550	550	1.0	\$550	500	1.0	\$500	500	1.0	\$500	since 2013.5
Kazakhstan	カザフスタン	Andrey Petrovskiy	アンドレイ・ペトロフスキィ	120	2.0	\$240	110	2.0	\$220	110	2.0	\$220	105	2.0	\$210	Left in 2019
Kazakhstan	カザフスタン	Mariya Gridneva	マリア・グリドネヴァ	140	2.0	\$280	140	2.1	\$300	140	1.0	\$140	136	1.0	\$136	since 2013.5
Kazakhstan	カザフスタン	Ruslan Sarsenbayev	ルスラン・サルセンバイェ フ			\$1	110	1.0	\$110	110	1.0	\$110	110	1.5	\$165	since 2015.6
Korea	韓国	Il-Nam Kim	イルーナム・キム	150	1.0	\$150	120	1.0	\$120	150	2.0	\$300	200	2.0	\$400	
Korea	韓国	Byeong Jun Jang	チャン・ビョンジュン										100	1.0	\$100	Left in 2017
Korea	韓国	Young Geol Kim	ヨウン・ゴル・キム										100	2.0	\$200	Left in 2016
Korea	韓国	Yong Hoon Kim	ヨン・フン・キム	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	since 2016.3
Korea	韓国	Man Soo Kang	マン・スー・カン	100	1.0	\$100										since 2019.3
Kyrgyz	キルギス	Vladimir Bychkov	ウラジミール・ビチコフ	150		\$165	150	1.0	\$150	150	1.0	\$150	150	1.0	\$150	
	キルギス	Nurfaiz Almazbek	ヌルファイズ・アルマズベ	100		*100	100	1.5	\$150	100	1.0	\$100	100	1.0	\$100	Left in 2019
Kyrgyz		Uulu	ク・ウウル		4.0	****								Н		
Macau	マカオ	Man Seng U	マン・セン・ウー		4.0			4.0	\$104	28		\$112	28			since 2016.3
Malaysia	マレーシア	Kin Meng Chung	キン・ミン・チャン		1.0				\$100	100		\$100	150		\$150	since
Malaysia	マレーシア	Chin Guan Tan	チン・グアン・タン	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	2013.10
Malaysia	マレーシア	Siew Loong Hee	許 紹隆													since 2014.5
Malaysia	マレーシア	Hee Soon Law	ヒー・スーン・ロー				150	1.0	\$150							since 2018.9
Mongolia	モンゴル	Gombogerel Batmunkh	ゴンボゲレル・バトムンフ	150	0.9	\$139	110	1.1	\$125			\$100	100	1.0	\$100	since 2014.9
Myanmar	ミャンマー	Aung Myint	オウン・ミン	100	1.0	\$100										since 2018.12
Nepal	ネパール	Mohan Kumar Tamang	モハン・クマール・タマン													since 2013.12
Nepal	ネパール	Surya Bahadur Budhathoki	スリャ・バハドゥール・ブダトキ	100	1.0	\$100	90	1.1	\$100	75	1.3	\$100				since 2017.5
Pakistan	パキスタン	Muhammad Arshad	ムハマド・アルシャド・ジャ	200			210	1.0	\$211	190	1.0	\$190	220	1.0	\$220	
Pakistan	パキスタン	Jan Muhammad Anis	ムハマド・アニス・カーン			\$4			\$110	100		\$100	100	Н	\$100	
	パキスタン	Khan Mahmand	カーリド・マームード			<b>V</b> 4	110	1.0	\$110	100	1.0	<b>\$100</b>	100	1.0	<b>\$100</b>	
Pakistan		Khalid Mehmood														
Pakistan	パキスタン	Sahib Zada Al Hadi Muhammad Farhad	サヒブ・ザダ・アル・ハディ ムハンマド・ファルハド・シ	110			110		\$110	110		\$110	105		\$105	since
Pakistan	パキスタン	Shinwari	シワリ	100			100	1.0	\$100	100	1.0	\$100	100	1.0	\$100	2015.10
Philippines	フィリピン	Richard Picar	リチャード・ピカール	120	1.0	\$120	120	1.0	\$120	120	1.0	\$120	114	1.0	\$114	since 2013.7
Singapore	シンガポー ル	Patrick Teo	パトリック・テオ	250	1.0	\$250	250	1.0	\$250	200	1.0	\$200	200	1.0	\$200	since2013.1
Singapore	シンガポー ル	Kim Lee Bong	キム・リー・ボン	100	1.0	\$100	150	1.0	\$150	120	1.0	\$120	120	1.0	\$120	since 2014.5
Sri Lanka	スリランカ	Piyaratne Muthukumarana	ピヤラトネ・ムトゥクマラナ	429	1.0	\$429	535	1.0	\$535	510	1.0	\$510	259	1.0	\$259	
Sri Lanka	スリランカ	Dumidu Dayasen Ratiyala	ドゥミドゥ・ダヤセン・ラティ ヤラ									\$100	112	1.0	\$112	Left in 2017
Sri Lanka	スリランカ	Leeiaratnne Hewawasam	リーララトネ・ヘワワサム・ ハッガラゲ							120	1.0	\$120	100	1.0	\$100	Left in 2017
Sri Lanka	スリランカ	Baraniwala Ajith Liyanage	バラニワラ・アジス・リヤナ	105	1.0	\$105	105	1.0	\$105	130	1.0	\$130				since 2016.9
Sri Lanka	スリランカ	Thusitha Kosala	ツシサ・コサラ・ロク・ジー		1.0		300	1.0		300		\$300				since 2016.9
Sri Lanka	スリランカ	Loku Geeganage Raminda Perera	ガナゲ ラミンダ・ペレラ・ヘラス・ラ		1.0							,,,,,				since 2017.8
		Herath Ralalage Indika Sanjeewa	ララゲ インディカ・サンジーワ・					1.0	\$130							
Sri Lanka	スリランカ	Seekku Arachchige	シーク・アラチチゲ	106												since 2018.4
Taiwan	台湾	Shinya Ikeda	池田 慎哉	125	1.0	\$125	110	1.0	\$110	100	1.0	\$100	55	1.8		since 2016.1
Tajikistan	タジキスタン	Saidikrom Nazarov	サイディクロム・ナザロフ												\$7	since 2014.9
Thailand	タイ	Fumiaki Nagashima	永島 文秋	100	2.0	\$200	100	2.0	\$200	100	2.0	\$200	100	2.0	\$200	since2012.11
Uzbekistan	ウズベキス タン	Khasan Nazarov	カサン・ナザロフ	460			450	1.0	\$456	410	1.0	\$410	380	1.0	\$377	
Vietnam	ベトナム	Yutaka Tsugawa	津川 裕	208	1.0	\$208	202	1.0	\$202	126	1.0	\$126	80	1.3	\$100	since 2013.7 former Club
		Asia Total	アジア 集計	10,761		\$12,316	11,064	L	\$13,949	10,866	L	\$14,399	9,001		\$13,068	
Australia	オーストラリア	Peter Volke	ピーター・ヴォルク	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	
Australia	オーストラリア	David Jacobs	デビッド・ジェイコブス	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	since 2014.5
Australia	オーストラリア	John Michael Hall	ジョン・マイケル・ホール	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	100	4.0	\$400	since 2015.8
Australia	オーストラリ	Yasunari Yahiro	八尋 康成		4.0				\$400		4.0	\$400	100			since 2015.8
Australia	オーストラリ	Andrew Harisiou	アンドリュー・ハリシオ		4.0				\$400	100		\$100		H	7	since 2016.9
New Zealand	ア ニュージー ランド	Peter Lowl	ピーター・ロウル		1.0				\$100	100		\$100	90	1.3	\$100	
. TOTH ACAIMING	ランド	South Pacific									1.0			1.3		
		Total	南太平洋 集計	600		\$2,100			\$2,100			\$1,800	480		\$1,700	
Canada	カナダ	Camille Ohan	カミーユ・オーハン		4.0					480			475		\$1,900	
Canada	カナダ	Guy Salter	ガイ・ソルター	260	1.0	\$260	294	2.0	\$588	230	4.0	\$920	105	4.0	\$420	
Canada	カナダ	Siamak Pourhabib	シアマック・プルハビブ				85	4.0	\$340	100	4.0	\$400	100	4.0	\$400	
Canada	カナダ	Keith Tanton	キース・タントン				115	2.0	\$230	115	4.0	\$460	115	4.0	\$460	Left in 2018
Canada	カナダ	Alain Bordeleau	アラン・ボルデロー	233	1.0	\$233	217	1.0	\$217	217	4.0	\$868	217	4.0	\$868	
Canada	カナダ	Normand Bordeleau	ノーマン・ボルデロー	125	1.0	\$125	115	1.0	\$115	125	4.0	\$500	125	4.0	\$500	
		1	t .								1	i				i

					19		18		17		]					
Country	国名	Branch Chief	支部長名	会員数	\$	年会費	会員數	\$	年会費	会員数	\$	年会費	会員数	20°	年会費	
Canada	カナダ	Name Luciano Paparella	ルシアノ・パパレラ	Members 135		Annual Fee \$540	Members 130	4.0	Annual Fee \$520	Members 150	4.0	Annual Fee \$600	Members 380	4.0	Annual Fee \$1,520	/Remarks
	カナダ		アドリアン・ロション	100	4.0	<b>\$540</b>	125		\$500			\$500		Н	\$500	
Canada		Adrien Rochon		100	40	\$400	103	4.0		125	4.0		125			
Canada	カナダ	Kevin Vallée	ケヴィン・ヴァレー	102	Н	\$408			\$206	103	4.0	\$412	81	4.0	\$324	
Canada	カナダ	David Ricci	ダヴィー・リッツィ		4.0	\$316		4.0	\$280	67	5.0	\$335		4.0		since 2015.1
Canada	カナダ	Antonio Alves	アントニオ・アルヴェス	100	1.0	\$100	110		\$110	110	1.0	\$110	103	4.0	\$412	since 2015.6
Canada	カナダ	John Kalaidopoulos	ジョン・カライドポウロス	240	4.0	\$960	225	4.0	\$900	200	4.0	\$800				since 2016.5
Canada	カナダ	Andre Gilbert	アンドレ・ギルバート	843		\$3,372	700		\$700	665	1.0	\$665				since 2017.10
United States	アメリカ合衆国	Tetsuya Sato	佐藤 哲也	9	11. 1	\$100	9	11. 1	\$100	18	5.6	\$100	19	5.3	\$100	
United States	アメリカ合衆 国	Ghukas Stepanyan	グーカス・ステパンヤン													
United States	アメリカ合衆 国	Karsten Davidsen	カールステン・ダビッドセン													
United States	アメリカ合衆 国	Luis Torregrosa Jr.	ルイス・トレグローサ・ジュ ニア	125	1.0	\$125	125	1.0	\$125	125	1.0	\$125	78	1.3	\$100	since 2013.5
United States	アメリカ合衆国	Roman Herman	ローマン・ハーマン							112	2.0	\$224	122	2.0	\$245	Left in 2017
United States	アメリカ合衆国	Ventsislav Sholin	ヴェンツィスラフ・ショリン	25	8.0	\$200	20	7.5	\$150	20	7.5	\$150	18	8.3	\$150	since 2015.1
United States	ー アメリカ合衆 国	Oleksandr Shlekhar	オレクサンドル・シュレ												\$96	since 2015.6
United	アメリカ合衆国	Takashi Sugawara	菅原 尚	30	3.3	\$100	29	3.4	\$100	19	5.3	\$100	7	14.	\$100	since 2015.6
States	<u> </u>	North America	北米 集計	2,806		\$8,839	2,992		\$7,261	2,981		\$9,189	2,120	3	\$8,295	
Aruba	アルバ	Roony Boye	ルーニー・ボワイエ	, , , ,		\$60	100	1.0	\$100	100	1.0	\$100		2.5	\$100	
Costa Rica	コスタリカ	Antonio Gonzalez	アントニオ・ゴンザレス		H	+30	145		\$146	181	1.0	\$181	172		\$344	
									\$200	40	4.0	\$160		5.0		
Curacao	キュラソー	Henry Gougon Nestor Cubas	ヘンリー・グーゴン ネストル・クバス・アルバラ			A.a-		4.0						Н	\$175	
Honduras	ホンジュラス	Alvarado	ド ルイス・トレグローサ・ジュ	108		\$108	107	1.0	\$107	106	2.0	\$212	102			since 2014.1
Mexico	メキシコ	Luis Torregrosa Jr.	ニア	20	5.0	\$100	5	0	\$100	5	0	\$100	25	Н		since 2016.9
Panama	パナマ	Mario Sanchez	マリオ・サンチェス						\$14	100	1.0	\$100	115	1.0	\$115	
Puerto Rico	プエルトリコ	Luis Torregrosa	ルイス・トレグローサ	215			257	1.0	\$257	177	1.0	\$177	208	1.0	\$208	
Trinidad and Tobago	トリニダー ド・トバゴ	Michael Jarrette	ミカエル・ハレッテ													
		Central America Total	中米 集計	343		\$268	664		\$924	709		\$1,030	697		\$1,246	
Argentina	アルゼンチ ン	Luis Gaston Couyet	ルイス・ガストン・クエット													Left in 2012
Argentina	アルゼンチ ン	Sergio Gabriel Pini	セルジオ・ピニ	243	2.0	\$486	284	2.0	\$568	259	1.7	\$441	237	2.0	\$474	
Bolivia	ボリビア	Reynald M. Hoyos	レイナルド・ミランダ・オヨ ス			\$156	200	1.0	\$200	200	1.0	\$200	150	1.0	\$150	
Brazil	ブラジル	Denivaldo Carvalho	デニヴァルド・カルヴァル ホ	718	1.0	\$718	589	1.0	\$589	1,115	1.0	\$1,115	1,030	1.0	\$1,030	
Brazil	ブラジル	Claudenor L. Magalhaes	クラウデノル・ロペス・マガ レス							100	1.0	\$100	100	1.0	\$100	
Brazil	ブラジル	Edvaldo F. da Silva	エドバルド・F・ダ・シルヴァ	120	1.0	\$120	110	1.0	\$110	100	1.0	\$100	110	1.0	\$110	
Brazil	ブラジル	Francisco C. J.	フランシスコ・C・J・ノゲイ							100	1.0	\$100	100	1.0	\$100	
Brazil	ブラジル	Nogueira Gabriel Pereira	ガブリエル・ペレイラ				110	1.0	\$110		1.0	\$110	110			
Brazil	ブラジル	Jose Reis de	ホセ・ルイス・デ・オリヴェ						<b>V</b> 110		1.0	\$84	100	-		
	ブラジル	Oliveira Rafael Cardoso	イラ ラファエル・カルドソ・ガル				110	1.0	\$110	100	1.0	\$100	110			
Brazil		Garcia Roberto Hiroshi	シア													
Brazil	ブラジル	Okumura Daniel da Silva	ロベルト・ヒロシ・オクムラ ダニエル・ダ・シルヴァ・マ				100		\$100	100		\$100	109	1.0	\$109	
Brazil	ブラジル	Martino Wagner Takeshi	ルティノ		0.5	\$54	100		\$100	160		\$150				since 2017.5
Brazil	ブラジル	Yoshizako	ワグナー・タケシ・ヨシザコ	150		\$150			\$150	160		\$160				since 2017.5
Chile	チリ		フランシスコ・コルネホ		2.0	\$680			\$560		2.0	\$550	275			
Paraguay	パラグアイ	Javier Rojas	ハビエル・ロハス	300	1.0	\$300	270		\$270	250		\$250	250		\$250	
Peru	ペルー	Hector Chavera	ヘクトル・チャヴェラ	125	1.0	\$125	125	1.0	\$125	150	1.0	\$150	150	1.0	\$150	
Uruguay	ウルグアイ	Eduardo Garcia	エドゥアルド・ガルシア	964	1.0	\$964	1,132	1.0	\$1,132	1,128	1.0	\$1,128	1,032	1.0	\$1,032	
Uruguay	ウルグアイ	Agustin Rubal	アグスティン・ルバル			\$8	416	1.0	\$416	410	1.0	\$410	395	1.0	\$395	
Uruguay	ウルグアイ	Adriano Hernandez	アドリアーノ・ヘルナンデス				204	1.0	\$204	198	1.0	\$198	212	1.0	\$212	Left in 2019
Uruguay	ウルグアイ	Jarry Gonzalez	ジャリー・ゴンザレス				129	1.0	\$129	136	1.0	\$136	134	1.0	\$134	Left in 2018
Uruguay	ウルグアイ	Alvaro Vigliola	アルヴァロ・ヴィグリオラ	179	1.0	\$179	176	1.0	\$176	175	1.0	\$175	175	1.0	\$175	since2012.1
Uruguay	ウルグアイ	Gerardo Recuero	ヘラルド・レクエロ	125	1.0	\$125	215	1.0	\$215	220	1.0	\$220	228	1.0	\$228	since2012.1
Uruguay	ウルグアイ		セバスチャン・スカルラッタ	142		\$142			\$139	138		\$138	135			since2012.12
Uruguay	ウルグアイ		パトリシオ・メネンデス		1.0	\$148			\$145		1.0	\$140	143			since2012.12
Venezuela	ベネズエラ	David Hernandez	ダヴィッド・ヘルナンデス	100	_	\$100		1.3	\$100		1.3	\$100		1.1	\$100	
Ecuador	エクアドル	Ivan Jimmy	イヴァン・ヒミー・ゲレロ・モ	100	0	φισο	30		φ100	/3	1.0	<b>\$100</b>	30	4.1	φισο	since 2019.5
Louador	エノノトル	Guerrero Moran South America	ラン		H	A4	F.65		Ar			40	F 6	H	Ar	SIIICE 2019.5
		Total	南米 集計	3,869	_	\$4,455			\$5,648	5,799	_	\$6,355	5,375	_	\$5,897	
Japan	日本	Sohonbu	総本部	1,504	5.0	\$7,520	1,360	5.0	\$6,800	1,457	5.0	\$7,285	1,600	_		
Japan	日本	Hiroyoshi Takamori	高森 浩義											5.0		Left in 2016
	In +	Shinichi Sotodate	外舘 慎一	140									100	150		i
Japan	日本	Shiriichi Sotodate	77.66 1具	149	5.0	\$745	160	5.0	\$800	157	5.0	\$785	162	5.0	\$810	
Japan Japan	日本	Okito Narumi	鳴海 沖人		5.0	\$745 \$965			\$800 \$955	201		\$785 \$1,005	192			

				2019		2018				17						
Country	国名	Branch Chief Name	支部長名	会員数 Members	\$	年会費 Annual Fee	会員數 Members	\$	年会費 Annual Fee	会員数 Members	\$	年会費 Annual Fee	会員数 Members	\$	年会費 Annual Fee	備考 /Remarks
Japan	日本	Kazumi Kaneda	金田 和美	186	5.0	\$930	185	5.0	\$925	176	5.0	\$880		5.0	\$925	
Japan	日本	Keiji Sampei	三瓶 啓二	317	5.0	\$1,585	346	5.0	\$1,730	341	5.0	\$1,705	357	5.0	\$1,785	
Japan	日本	Akira Furukawa	古川 章	468	5.0	\$2,340	532	5.0	\$2,660	546	5.0	\$2,730	542	5.0	\$2,710	
Japan	日本	Yasuharu Fujihara	藤原 康晴	193	5.0	\$965	203	5.0	\$1,015	231	5.0	\$1,155	264	5.0	\$1,320	
Japan	日本	Takao Inoue	井上 貴雄	132	5.0	\$660	160	5.0	\$800	194	5.0	\$970	207	5.0	\$1,035	
Japan	日本	Isao Kobayashi	小林 功	430	5.0	\$2,150	463	5.0	\$2,315	461	5.0	\$2,305	455	5.0	\$2,275	
Japan	日本	Yoshitaka Sato	佐藤 隆孝	323	5.0	\$1,615	330	5.0	\$1,650	365	5.0	\$1,825	379	5.0	\$1,895	
Japan	日本	Koichi Okumura	奥村 幸一	357	5.0	\$1,785	331	5.0	\$1,655	313	5.0	\$1,565	300	5.0	\$1,500	
Japan	日本	Tatsuya Hasegawa	長谷川 達矢	186		\$930			\$1,045	250	5.0	\$1,250			\$1,250	
Japan	日本	Takehisa Iriki	入来 武久	930		\$4,650			\$4,570	945	5.0	\$4,725			\$4,490	
Japan	日本	Hiroshi Nanri	南里 宏	746		\$3,730			\$3,490	703	5.0	\$3,515		5.0	\$2,680	
Japan	日本	Toshiki Kinami	木浪 利紀	209	5.0	\$1,045	202	5.0	\$1,010	190	5.0	\$950	201	5.0	\$1,005	
Japan	日本	Kunihiro Suzuki	鈴木 国博	167	5.0	\$835	165		\$825	185	5.0	\$925			\$850	
Japan	日本	Norichika	塚本 徳臣	291	5.0	\$1,455	287	5.0	\$1,435	329	5.0	\$1,645		5.0	\$1,685	
Japan	日本	Tsukamoto Ko Tanigawa	谷川 光	226		\$1,130	221	5.0	\$1,105	216		\$1,080	218		\$1,090	
	日本	Masashi Kimoto	木元 正資	1,221	5.0	\$6,105			\$6,410	1,345	5.0	\$6,725		5.0	\$7,105	
Japan Japan	日本	Fumiaki Nagashima	永島 文秋	886		\$4,430	906		\$4,530	848	5.0	\$4,240		5.0	\$7,105	
	日本	Kensaku Yamamoto		1,026		\$5,130			\$4,530	1,101	5.0	\$4,240		5.0	\$5,635	
Japan																
Japan	日本	Masahide Jike	寺家 誠秀	215		\$1,075	209	5.0	\$1,045	249	5.0	\$1,245	250	5.0	\$1,250 \$1,045	
Japan	日本		村山努	208		\$1,040	220	5.0	\$1,100	204	5.0	\$1,020	209	5.0	\$1,045	
Japan	日本	Susumu Toe Naoyoshi	遠江 大	335		\$1,675	354	5.0	\$1,770	359	5.0	\$1,795	353		\$1,765	
Japan	日本	Matsumoto	松本 直義	222		\$1,110			\$1,160	249		\$1,245		5.0	\$1,185	
Japan	日本	Masatoshi Maeda	前田 政利	306		\$1,530			\$1,660	340		\$1,700		5.0	\$1,505	
Japan	日本	Shinji Sakamoto	阪本 晋治	621	5.0	\$3,105	614		\$3,070	596	5.0	\$2,980		5.0	\$3,065	
Japan	日本	Takatomi Naito	内藤 隆富	128		\$640			\$735	172		\$860	172		\$860	
Japan	日本	Masaru Wada	和田 勝	131	5.0	\$655	141	5.0	\$705	156	5.0	\$780	166	5.0	\$830	
Japan	日本	Shuichiro Tada	多田 修一郎	120		\$600	126	5.0	\$630	115	5.0	\$575	122	5.0	\$610	
Japan	日本	Makoto Takahashi	高橋 誠	287	5.0	\$1,435	286	5.0	\$1,430	343	5.0	\$1,715	328		\$1,640	
Japan	日本	Yasuhiro Kurooka	黒岡 八寿裕	433	5.0	\$2,165	467	5.0	\$2,335	485	5.0	\$2,425	506	5.0	\$2,530	
Japan	日本	Tadashi Ishihara	石原 延	147	5.0	\$735	160	5.0	\$800	167	5.0	\$835	173	5.0	\$865	
Japan	日本	Hiroyuki Ohama	大濱 博幸	524	5.0	\$2,620	516	5.0	\$2,580	515	5.0	\$2,575	501	5.0	\$2,505	
Japan	日本	Kazuo Miyoshi	三好 一男	341	5.0	\$1,705	344	5.0	\$1,720	355	5.0	\$1,775	365	5.0	\$1,825	
Japan	日本	Toshiyuki Mitarai	御手洗 俊行	216	5.0	\$1,080	255	5.0	\$1,275	278	5.0	\$1,390	281	5.0	\$1,405	
Japan	日本	Yuichiro Osaka	逢坂 祐一郎	257	5.0	\$1,285	248	5.0	\$1,240	228	5.0	\$1,140	238	5.0	\$1,190	
Japan	日本	Kenji Maegawa	前川 憲司	261	5.0	\$1,305	279	5.0	\$1,395	296	5.0	\$1,480	304	5.0	\$1,520	
Japan	日本	Kenji Midori	緑 健児	1,553	5.0	\$7,765	1,515	5.0	\$7,575	1,548	5.0	\$7,740	1,480	5.0	\$7,400	
Japan	日本	Shingo Kusu	楠 愼吾	205	5.0	\$1,025	211	5.0	\$1,055	217	5.0	\$1,085	260	5.0	\$1,300	
Japan	日本	Yasuhiro Yamasaki	山崎 保広	110	5.0	\$550	124	5.0	\$620	125	5.0	\$625	120	5.0	\$600	
Japan	日本	Masahiko Yamada	山田 政彦	299	5.0	\$1,495	298	5.0	\$1,490	322	5.0	\$1,610	335	5.0	\$1,675	
Japan	日本	Satoshi Niiho	新保 智	133	5.0	\$665	135	5.0	\$675	122	5.0	\$610	130	5.0	\$650	
Japan	日本	Naoki Kawahara	川原 奈穂樹	109	5.0	\$545	126	5.0	\$630	127	5.0	\$635	144	5.0	\$720	
Japan	日本	Hideaki Koizumi	小泉 英明	109	5.0	\$545	115	5.0	\$575	107	5.0	\$535	111	5.0	\$555	
Japan	日本	Takuya Harauchi	原内 卓哉	247	5.0	\$1,235	260	5.0	\$1,300	279	5.0	\$1,395	288	5.0	\$1,440	
Japan	日本	Tadashi Fukaya	深谷 忠	155	5.0	\$775	146	5.0	\$730	170	5.0	\$850	183	5.0	\$915	
Japan	日本	Kazuhito Yamada	山田 一仁	404	5.0	\$2,020	393	5.0	\$1,965	356	5.0	\$1,780	357	5.0	\$1,785	
Japan	日本	Yasukazu Koi	小井 泰三	362	5.0	\$1,810	357	5.0	\$1,785	342	5.0	\$1,710	314	5.0	\$1,570	
Japan	日本	Tomikazu Yoshida	吉田 富和	176	5.0	\$880	163	5.0	\$815	144	5.0	\$720	124	5.0	\$620	
Japan	日本	Kiyohide Kuno	久野 浄英	142	5.0	\$710	147	5.0	\$735	139	5.0	\$695	133	5.0	\$665	
Japan	日本	Hideki Kesamaru	今朝丸 英紀	128	5.0	\$640	134	5.0	\$670	125	5.0	\$625	122	5.0	\$610	
Japan	日本	Ryutaro Hirayama	平山 竜太郎	174	5.0	\$870	187	5.0	\$935	160	5.0	\$800	142	5.0	\$710	
Japan	日本	Kumiko Sunakawa	砂川 久美子	144	5.0	\$720	136	5.0	\$680	131	5.0	\$655	117	5.0	\$585	
Japan	日本	Takayuki Tukagoshi	塚越 孝行	121	5.0	\$605	123	5.0	\$615	122	5.0	\$610				
Japan	日本	Eisuke Hiromae	広前 英輔	88	5.0	\$440	94	5.0	\$470							
		Japan Total	日本 集計	19,712		\$98,560	19,930		\$99,650	20,377		\$101,885	20,303		\$101,515	
		Grand Total	総計	78,603		\$193,487	80,076		\$195,566	80,393		\$201,221	73,889		\$192,976	